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BHMEEXR(SD345)
BA| B FE & |X ¥ HEUE=E | -FiYEE E = HE
(mm) (kg/m) | (kg/%x) (kg)
B 1| D13 5500 6| 0.995 5. 47 33| M
B2 | D16 3240 6 1.56 5.05 30 |—
B3 | D13 5500 6| 0.995 5. 47 33| L
B 4 | D16 5000 5 1.56 7.80 39 |—
B5 | D13 2640 12 0.995 2.63 32| )
B 6 | DI3 1510 12| 0.995 1.50 18| ~
B 7 | D13 1370 12| 0.995 1.36 16|
B8 | DI6 2140 12| 1.56 3.34 40 |
B9 | DI3 2170 12 0.995 2.16 26 |
B10 | D16 2170 2 1.56 3.39 T
B11 | D16 2170 2 1.56 3.39 T
B12 | D16 1060 2 1.56 1.65 3 |—
B13 | D16 4500 1 1.56 7.02 1T |—
291
U1 |D16 71160 3 1.56 11.17 34| L) (8
U2 D13 2760 3 0.995 2.5 8 |—
U3 | D13 2280 6| 0.995 2.21 14 | @8
U4 | D13 800 6| 0.995 0.80 5|
U5 | D16 1080 14 1.56 1.68 24 |——
U6 | D13 990 16| 0.995 0.99 16 |—
U7 | D13 830 41 0.995 0.83 3 |—
U8 | D13 1060 41 0.995 1.05 4| _—
U9 | D13 550 41 0.995 0.55 2| M
110
P11 D13 1220 141 0.995 1. 21 1711
P2 | D13 1050 141 0.995 1.04 15 ] [
P3| D13 2760 41 0.995 2.5 1M |—
P4 | D13 590 3 0.995 0.59 2|
45
S 1] 0D13 860 41 0.995 0.86 3| 3
S 2 | D13 1200 41 0.995 1.19 5| 0
S 3 | D13 620 18| 0.995 0.62 11—
S 4 | D13 1150 2 0.995 1.14 2| 0
S5 | D13 1310 2 0.995 1.30 3 0
S 6 | D13 800 2] 0.995 0.80 2|3
S 7 10D13 420 41 0.995 0.42 2|11
28
& EDI6 191 kg
D13 283 kg
KEE 474 kg

X DEEFAIMR ZRETET B,

ERIEE TRAWELS
T F A |z SRAESETE

T &4 ET BRE/NFLEFE R

HEDEHR R ARERRT R (3)

#ER $=1:50 E%%" 8/20

E2CTES RMTKER FKERHE




©1) pi3

: ©6) 013

65) D13

€1) 013

: e IS
MPAAKRERHBR(4) s=1:50
[ERARNRY EELH]
A_
€113 €15 013 D13 N
e e e e e e e rssrssrissrres 2s 2600
= 400 1800 400
110 S S
107 100 o $3
— ‘ = D13 63 13 <
— s cscscecaiesssscsccoc=n====smsscc=c=h sl S = e S
(= = ~r i~ S i v—:"_
= ¢10 013 €15 013 §3) 013 = VA= NI 2
4105k == e . =
(620 e s L1ty 120 als 22
i o I S
130 396250=9750 120 - ml= u g
700 | 1300 10000 = e’ =
12000 62 013|163 13 =
120160, 78250=1750 1601 20
45 5500 145
B_
700_ 600 4000 600 3800 400 1900
1201120
6
— @013 ITHFHHRIR
@ < ctc250
©8) n16 €1 o16 =
e e e e e e e e R E S S R R S L A SF S
== =t S ooz €2 ois €2) ois
104 D13 109 = | |
10 g g ©6) 013 ¢ —— ©6) 013 o) 013 = <
Sl e ©5) 013 O, €5) 13 ozl @
i oF= €1) 013 ©7) p13 M
800k €7) 013 ©4) pig |€3) 013 €3) 013 |€4) p1e
(620)
130 39625029750 120
700 | 1300 10000
12000
4
£ 1 & 5=1:10 L
400
120 160 120
T i # & i & k] Py
D16
s D16 D16 b
| |
o = o © / \
= L _ 44,444421 = L s Aggjil o DI3 ‘ ‘ D13
Sl=e =R D13 ~ |
g = - i3 S = b
D16 D13 ‘
D16 D16 ///“ ‘l\\\
A
250 250 250 250 250 250 v
13 D13 13

a - a
2600
400 1800 400
120160 76250=1750 ]160120
1145 1145
D13
@ D13 :E §
AR RRE I—
FE
fi &
A
— c !
ml (A M
ﬁi I I I E
13
O
(30 ol bl
-E===_=========================
Il

KEYPLAN

[EF NV, !

X DEEFAIMR ZRETET B,

FRSIEE FTRAME2S

T % 2 xmi .y SHAREETE
EIERA EW SERBNHFLEHE A
HEOESE PR (@)

wR $=1:50 ‘EE%‘ 9/20

E22T g

BT T OKER TKER R




BAAKERR (D)

; Low
\ 2
104 | = . 2o
I - oz 28
| S|
T -
=)
< ©8)nie
130 398250=9750 20
700 | 1300 10000
12000
Fof
—15
e
(DR
S
|(_’||||||||||||||||||||||||||||||||||||||| v<_'-c;o
S
< €9) o1
130 398250=9750 20
2000 10000
12000
- H
700 _ 600 4000 600 3800
D16 o
: - n G praes
S — ] ~
, , T T ool o
| I ' ' SR g
| | o 2
N — ! 3) 013~"
F—— = [ J - <
TTTrrrrrruri =
=
< D13
130 398250=9750 120
2000 10000

12000

(NMERANY FEE]

% 020
104 gl s
T 222

S
S =
< ©6) 013 =
130

700 | 1300

D13
48"-( ogo
104 =gl s
T HEEES
=
s g:} D13 —
130
700 | 1300
700 600
D16 = D13
o= FEROLI
l T s 3
_______ e RS =2 S
107 =5 3 S
%‘;f:
[ =g
N S Q:} D13 2
130
700 | 1300

X OREIFAIMR ZRTET B,

FRSIEE FTRAME2S

T F & ey SRAREETE
BIGFE | 2h EABMELHN bR
EEOEE PR 5)

wR $=1:50 ‘ EE%%‘ 10 / 20

E22T g

RN TKER FKERZRR




©1) 40-D13 X 4500

©3) 40-D13 X 5000

2360
S B
@ 39-D16 X 3000
S |

2360
39-D16 X 3000

g

=
2030
@ 78-D13 X 2490

©
(22l

18-D13 X 1230

©7) 78-D13 X 800

11076

BB FT A (R ES i X (6)

§=1:50

[NERRANY

5 K]

10-D16 X 11270

10500

Sl

T1) 24-013 X 1120

10-D16 X 10500

10500

2360

(T2) 6-13 X 2360

©19 12-D13 X 10500

10986

©1) 10-D16 X 11230

10500

©12 2-D16 X 10500

10986

Jﬁgi

(52) 76-D13 X 800

o)

©13 10-D16 X 11350

212

-~

($3) 118-D13 X 420

10500

186

©14 2-D16 X 10500

10983

(54) 2-D13 X 390

(=
o,

©15 12-013 X 11370

BHmEEXR(SD3ILG)
'Rl B | E & |X % HuBE -riVEE E = HE
(mm) (kg/m) (kg/ %) (kg)
C1]D13 4500 40| 0.995 4.48 179 | M
C2|Di16 3000 39 1.56 4.68 183 |—
C 3 | D13 5000 40| 0.995 4.98 199 | L
C 4 | D16 3000 39 1.56 4.68 183 |
C5 | D13 2490 78| 0.995 2.48 193] ]
C6 | D13 1230 78 0.995 1.22 95|
C 7 ]D13 800 78| 0.995 0.80 62|
C 8 | DI6 11270 10 1.56 17.58 176 |—
C9 | DI6 10500 10 1.56 16.38 164 |—
C10 | D13 10500 121 0.995 10. 45 125 |—
C11 | D16 11230 10 1.56 17.52 175 |—
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